7.6 Solving Logarithmic Equations

This is so much fun that it’s ridiculous, but there is a

CAUTION
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And now, for the lesson:

Remember:  Given f(x)=log, (x), then the domain is ’D{ T (o/oo)

But First...

We will be making use of the following facts:

1) log, () =m0 x>0 45

2) If log, (M)=log,(N), thenM =N
3) log,(m)+log,(n)=log,(m-n)

4) Ioga(m)—'oga(”)zloga(%j

5) log, (m")=n-log, (m)
6) Givenx=log, (b), thena* =b (or vice-versa)
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Example 7.6.1

Solve log, (x)=2log, (5
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Example 7.6.2
Solve log(5x—-2)=3
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Example 7.6.3
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Example 7.6.4
Solve log, (x)+log,(3)=3
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Example 7.6.5
Solve 3log(x)—log(3)=2log(3
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Example 7.6.6 /"'D“ yéoel
Solve log, (x)+log, (x—5)=2
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Example 7.6.7 / L~ Admissible domain
Solve log, (x+1)+log, (x-5)=1
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Class/Homework for Section 7.6

Pg. 491 — 492 #1bef, 2bcf, 4ade, 5,7, 9, 10, 11d, 12, 14
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